COMPILED MARKS SHEET

Name of the Candidate	Father's/Husband Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Member-4 (50)	Total (200)	Position
Annbusna kumasi	Srikant Prasad	05 05	11	23	19	19	72	1
	Bircindra Kumar	30 95	13	19	23	13		2
								280
							6	25 Chairman
								TEA HILL ON NOWS
			/			1000	£11	Camade Seby Alexan
Interview Commi	ttee Members:		٠.১			10.01		. /
	Name of the Candidate Annipusna kuman Soni Mahima	Name of the Candidate Father's/Husband Name Sri Kont Prasad Birendra	Name of the Candidate Father's/Husband Name Date of Birth Sri Kant Prasad Prasad Soni Mahina Birchara 30 97 95 Interview Committee Members:	Name of the Candidate Name Father's/Husband Date of Birth Son's Komt Prasad Prasad Son's Mahima Bircindra Son's 95 13 Interview Committee Members:	Name of the Candidate Father's/Husband Name Date of Birth Solit Kamt Prasad Solit Mahima Sirkant Roman	Name of the Candidate Father's/Husband Name Birth Son's Mohima Son's Mohima Son's Mohima Son's Mohima Father's/Husband Name Praxad Son's Mohima So	Name of the Candidate Father's/Husband Name Birth Soni Mahima Soni Mahima Soni Mahima Father's/Husband Name Birth Soni Mahima Soni Mahima	Candidate Name Birth (50) (50) (50) (50) (50) (200) Ampusna kumai Prasad os

Chairman, Nominated Member

By Hon'ble Chairman

Educationist, VMC

घरनौत. नालन्दा (बिहार)

Signature 15 wi wd.
Name 21.03.25

Dr. Awadesh w Dwind.

COMPILED MARKS SHEET

Dated: 21/03/2025

Post: PGT-Physics Name of the Father's/Husband Date of Member-3 Position Member-1 Member-2 Member-4 Total Candidate No. Name Birth (50)(50)(50)(50)(200)Rishi Kumar Narendra Singh Raj Kumar Pyare Prasad 37 39 35 34 145 2 39 40 31 42 15 2 3 4 5 6 7 8 9 10 क्रा कि यहन सामत काखाना प्राचनन K V Camage Renair Workshop Projects
Etall. Nalanda
Hamaut Nalanda 11 12

Interview Committee Members:

Chairman, Nominated Member By Hon'ble Chairman

21.03 2-23 2. Sh. Dhanajay Kumar Educationist, VMC

3. Sh. C.B.Rumar Printlyविद्याप्तर पि©शां Wंडोक्क naut रतीत, नालन्दा (बिहार)

Signature Name Designation

COMPILED MARKS SHEET

Data d. 21/02/2025

Post: TGT-Maths

	Dated: 21/03/202	25					Post: 1G	l -Maths	
SL. No.	Name of the Candidate	Father's/Husband Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Member-4 (50)	Total (200)	Position
1	Rahul Kumar	Doman	10 96	24	30	21	/	75	4
2	Chandan Kumar	Kishori	12 90	70	09	11		27	6
3	Rajnish Kumar	Samay	10 05	32	30	15		77	3
4	Grulam Grous	Moh. Misar	25 = 2	28	32	12		72	5
5	Swit Kumar	Surendra	25 92	36	32	26	/	94	2
6	Rishi Kuwar	Naxendra Singh	12 95	40	34	36	/	110	1
7	1000		,	,			/		
8									
9									
10									28/21/6
11									25° 100 mm in
12							200		34-74 Chairman afra arrain afra arrain afra arrain
	Interview Comn		ak,	,03 2025	5	c Mu	0 ,	10(1)	अरुपंत (haintidin क्रिया क्रया क्रिया क्रया क्रिया

Chairman, Nominated Member

By Hon'ble Chairman

2. Sh. Dhanajay Kumar Educationist, VMC

3. Sh. GREEN umar

रनौत, नालन्दा (बिहार)

COMPILED MARKS SHEET

	Dated: 21/03/202	25		WII ILLD WI	Andre original		Post: TC	T-Eng	
SL. No.	Name of the Candidate	Father's/Husband Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Member-4 (50)	Total (200)	Position
1	Abhishek Kumax Manish Kr Sagar	Vijay Kumar	01 12	32	27	27	31	117	2
2	Manish Kr Sagar	Vijay Singh	1207	37	38	38	35	148	1
3	J						/		
4									
5									
6									
7									
8									
9									22015
10									गुरु(Chairman
11								70 17	अध्यक्ष Chairman महायका वाह्य-मागान कहावाना महायका amage Repair Works rop Projects amage Repair महान्त्री
12			/		((12)	KNO	अध्यक्ष Chaiffley परिवासी अध्यक्षित कारणान परिवासी आह्न-मारान कारणान Projects amage Repair Workshop Projects कार्यात . स्वात . Hamaul Nalphda
	Interview Commi	u - Manahana			\	M	0		

Interview Committee Members:

Chairman, Nominated Member By Hon'ble Chairman

2. Sh. Dhanajay Kumar Educationist, VMC

ण्रनौत, नालन्दा (बिहार)

4. Subject Expert

COMPILED MARKS SHEET

		25		COMPILED MA	auxs still	1		
SL. No.	Dated: 21/03/202 Name of the	Father's/Husband	D : 0			Post	: Data Entry (Operator
	Candidate	Name Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Total (150)	Position
1	Rojan ha 1	Bixendra V	202				(123)	
2	Tyendra Kumar	1) Dendro	75 87	32	32	26	90	1
3	Rajendra Kumar Raj Roushan	Prasad	10 1994	27	20	24	71	2
4							/	
5								
6								
7								
8						,		
9								
10								
11					/			
12								2

Interview Committee Members:

1. Sh. A.K. Sinha

Chairman, Nominated Member By Hon'ble Chairman

2. Sh. Dhanajay Kumar

Educationist, VMC

रानीत नालमा (विला)

३० व्याल - मरमान कारणाना परियाजनी X V. Carriage Repair Workshop Projects हरनीत. नालन्या

4. Subject Expert Harnaut Nalanda

Signature

COMPILED MARKS SHEET

	Dated: 21/03/202 Name of the Candidate	Father's/Husband Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Post: Special Total (150)	Position
		Shankar	220					
2	Ravi Kumar	Shankar Prasad	3001	41	32	39	112	
3								
1								
5								
5								
,					/			
				/				
0			7/					
1								2
2							1	22
2							78	35.4 31对符 (Ju
	Interview Committ				,	Λ	26	अध्यक्ष Clic का कि वाहन-माम्पत

1. Sh. Alk Sinha3 125 Chairman, Nominated Member By Hon'ble Chairman

2. Sh. Dhanajay Kumar Educationist Educationist, VMC

रमौत, नालन्दा (बिहार)

🙏 V Carnage Repair Workshop Projection

Harnaut, Malanda

COMPILED MARKS SHEET

Dated: 21/03/202	2.5						Coach
Name of the Candidate	Father's/Husband Name	Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Total (150)	Position
Amresh Kr. Singh	Pranav Kr Shorma	1500	41	37	43	2	1
Manual Kumax	Shiya saran	10 03	38	36	33	107	2
Vikash Kumx	Late Vinod	10 05	30	23	23	76	3
The state of the s							
			/				
							725.554
						1	अध्यक्ष/Chairman
	Name of the Candidate	Candidate Name	Name of the Father's/Husband Date of	Name of the Candidate Father's/Husband Date of Birth (50)	Name of the Candidate Father's/Husband Name Date of Birth Member-1 (50) Member-2 (50)	Name of the Candidate Father's/Husband Name Date of Birth (50) Member-1 (50) Member-2 (50)	Name of the Candidate Father's/Husband Name Birth Date of Birth Shorma Sh

Interview Committee Members:

1. Sh. A K Sippa 25

Chairman, Nominated Member By Hon'ble Chairman

2. Sh. Dhanajay Kumar Educationist, VMC

3. Sh. Cyllagumar प्रिम्हें विद्यालय सी San V Harnaut रमौत, नालन्दा (बिहार)

Hamaut, Nalanda

COMPILED MARKS SHEET

Dated: 21/03/2025

CI	Dated: 21/03/202						Post:	PRT
SL. No.	Name of the Candidate	Father's/Husband Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Total (150)	Position
2	Rakesh Pandey	Hohore	06 05	19	19	20	58	8
3	Amreta Raj	Nama Kishore Thakur	03	14	22	34	70	5
4	Sangita Kumari	Manohar Sharma	15 03	20	16	22.5	58.5	7
5	Shashi Kant Ranja	Baleshwar Prasad	25/2	10.5	13.5	24.5	56.5	9
6	Anish Kumar	Ram Prasad Singh	00 04	20.5	16.5	27.5	64.5	6
7	Beauty Kumari	Ramlakhan	15 05	32.5	28.5	34.5	95.5	3
8	Sandhya Kumaxi	311151	10/12	41	34	38	113	2
9	Ravi Kumar	Shankar Prasad	3001	44	36	41	121	1
10	Nishant Kumox	Shivnandou Yadou	05 03	23	21	32	76	4
11								78
12							(25)	25,30

Interview Committee Members:

1. Sh. A K Sinha 22 Chairman, Rominated Member By Hon'ble Chairman

2. Sh. Dhanajay Kumar Educationist, VMC

iar C

3. Sh. **प्राप्तार्थ** umar क्रिन्द्रोमः क्रियोज़र्स. औं उक्ति रेडर्न्यू arnaut रस्तीत, नालन्दा (विद्यार) 34: 45/ Chininhilling afterna 34: 45/ Chininhilling afterna 40/ Camade Repair Monshop Project Harnaul Makanda Harnaul Makanda

COMPILED MARKS SHEET

Dated: 21/02/2025

Post: TGT-SST

	Dated: 21/03/202	25					1031. 101		B 1.1
SL.	Name of the	Father's/Husband	Date of	Member-1	Member-2 (50)	Member-3 (50)	Member-4 (50)	Total (200)	Position
NO.	Candidate	Name	Birth	(50)	(30)	(30)	(50)	150	
1	Amait Kumar	Balram Sharma Balmiki Sinsh Upendra Prasad Mukesh Kumar Late Ponchu Das	23/12	28	24	25		77	2
2	Sonu Kumar Singh	Balmiki	24 12	42	32	39		113	1
3	Raj Roushan	Upendra	2 03 96		_	_		Absent	-
4	Khusbu Kumani	Mukish	2 96	12	21	22		55	4
5	Rajeer Kumar Das	Late Panche	21 9	30	20	25		75	3
6	y in the same						/		
7									
8									
9		•							,0
10									-75,0075
11							1.1		अस्त्रभ Chairman परिवाजन
12							(B)	和何何	भुक्तं तथ Chairman वास्त्र- मध्यान वास्त्राना प्राप्तिक Repail Workshop स्पनात नालान्या स्पनात नालान्या Hamaul Nalanda
	Interview Comm	ittee Members:				The Shirt	100	X 4 C	Harnaul, Nalanda

Chairman, Nominated Member By Hon'ble Chairman

A My 2.25 2. Sh. Dhanajay Kumar Educationist, VMC

3. Sh: Curria mar Pकांन्द्रीयंpalsuka Val Ball dagsnaut चरनौत, नालन्दा (बिहार)

4. Subject Expert

Signature Name

COMPILED MARKS SHEET

Dated: 21/03/2025

Post: PGT-Eng Name of the Father's/Husband Member-1 Member-2 Member-3 Date of Member-4 Total Position Candidate Name (50)Birth (50)(50)(50)(200)02 64 46 43 45 43 12 08 37 36 29 34 136 4 5 6 8 9 10 11 12 3. Sh. CRW Harnaut Principal, K.V. CRW Harnaut कन्द्रीय विद्यालय सीठआर०डव्लू० **Interview Committee Members:** 21.03 2025

Chairman Wominated Member By Hon'ble Chairman

2. Sh. Dhanajay Kumar

Educationist, VMC

ररनौत, नालन्दा (बिहार)

4. Subject Expert

Name FR. AVIT LAKEA Designation Principal

	Dated: 21/03/202	25					Post: Cor	nputer Inst	tructor
SL. No.	Name of the Candidate	Father's/Husband Name	Date of Birth	Member-1 (50)	Member-2 (50)	Member-3 (50)	Member-4 (50)	Total (200)	Position
1	Nadin Bilochan Shaxma	Arbind Kumar	31 85	14.5	14.5	10.5	13.5	53	7
2	Sanjeer Kumar	Asho K Prasad	01 02	30	13	13	12	68	6
3	Rajeev Kumax	Shambhu Prasad Sinsh	15 01	42	37	39	38	156	2
4	AKhilesh Kumar	Madhusudan Prasad	12 = 3	29	19	20	19	87	4
5	Indraject Verma	Naxish Kr Nerma	24 94	39	40	42	41	162	1
5	Rajiv Prasad	Satishprasad	12 92	38	23	25	22	108	3
7	Kamlesh Kumar	Kishori Sab	16 90	31.5	14.5	16.5	14.5	77	5
3	Sumaniert Bhossti	Kaushalendra Kumar	2402	_	_	_		-	
)	J								
0									23
1									
2							100	57	अस्त्रशासिक अस्त्रशासिक अस्त्रशासिक

1. Sh. A K Sinha 125 Chairman, Nominated Member

2. Sh. Dhanajay Kumar Educationist, VMC

4. Subject E